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HEHERS R 0

RIS A SR 347 344 126 29 17.5

ATHIABRA J7 2t 587 584 205 45 22.0
& |FiEEmB AR 269 264 92 38 41.3
. |rmatmamyrst 187 256 255 91 11 12.1
T [FmmEM A 258 254 89 19 21.3

CLH—TTAATTR 317 316 98 2 2.0

wL H—TTAB AR 132 131 40 2 5.0

IR 8 109 101 81 65 80.2

RFAFR 5 — SRR 3R (RTH0) 3%0RHRL 137 137 57 1 1.8

RPN 5 — SRR R (RTH0) 52ORHRL 27 46 46 18 0 0.0

K Nz 4 — SRR P 3R (14 391) S 0Rb 20 20 1 0 0.0

WESME ] T A R R 0

SN R R RR #T4 3 1 0

2 R R 0

/AN 3 360 | 2,718 | 2,689 | 1,087 369 33.9




i BRI Sy sup B | mms | mme | ek | Apen] ek
AOR—F7 U4 ARk 3 7 7 1 1| 100.0
DR R (A E R B ) 5 5 5 5| 100.0
DR R AR (A — D) 1 1 1 1| 100.0
He TR I (LAY 26 1 1 1 1| 100.0
FeTE R R (I B 20 20 20 20|  100.0
— e 13 13 7 4 57.1
FrEHE I 0
AR AR 71 71 29 5 17.2
AR BRA J7 2 89 89 18 4 22.2

% ATHIRABRB 42 43 43 7 4 57.1
o [RIRBRAM R 23 31 29 14 4 28.6
B |somsmemrs 33 30 12 K
B [er—T72a 41 41 17 3 17.6
L H—TTAB SR 22 22 8 0 0.0
A 2 12 11 7 6 85.7
KNG 5 — SR R (R0 38R 20 20 7 1 14.3
KNG 5 — SR AR (R0 2R 6 9 9 4 0 0.0
KNG 5 — SR AR (4300 S8R 3 3 1 0 0.0
HESM R T LB AR 0
SN N AR AR 4 0
A AR 0
3 it 60 421 415 159 64| 403
AOR—F7 U4 ARk 5 20 20 5 5 100.0
DR RSB (AR B ) 6 6 6 6| 100.0
DR RHE R AR (A — D) 3 3 3 3| 100.0
HeTE R I (LR i 1 1 1 1| 100.0
FeTE R I (I B 29 29 29 29| 100.0
— e 48 48 16 10 62.5
HrEHE I -
AR AR 164 161 26 3 11.5
AR A J7 2 277 274 54 12 22.2
ATIRABAB 3t 114 111 15 4 26.7
HTIABRAM A 3t 45 84 79 24 7 29.2
AR BABM 172 101 96 20 7 35.0
AT TAATTR 126 126 38 2 5.3
e H—TTAB SR 54 52 12 0 0.0
A 2 26 22 5 2 40.0
KNG 5 — SR R (R0 38R 36 36 15 1 6.7
KNG 5 — SR AR (R0 2R 7 20 20 7 0 0.0
KNG 5 — SR PR (4300 S8R 3 3 0 0.0
HESM R T LB AR 0
SN N AR AR 4 0
A AR R 0
3 7 100 1,112] 1,087 277 92 33.2




e A 5y st AB | ek | 2hes | amss | g | s
AOR—h74 VA AR 3 22 21 4 4] 100.0
PR EEHE RS AR (A %) 7 7 7 7| 100.0
DR BRI AR (PR — ) 3 3 3 100.0
SRR BRI AR (TR " 0
SRE BRI AR (M B ) 3 3 3| 100.0
— AR 42 39 5  100.0
KRS -
IR A 93 92 11 7 63.6
AT BRA 7k 122 122 12 5 41.7
B |aisms H A 79 79 6 3 50.0
v [msman 15 53 50 4 0 0.0
= giamBM = 56 51 3 2 66.7
# |[err—r2aK 63 63 5 0 0.0
LA —TFABR R 44 44 3 0 0.0
% 2 23 20 5 4 80.0
KA 40— BRI (A1) 3%0RH 35 35 15 0 0.0
KA 40— BRI (A1) 520RH 6 11 11 5 0 0.0
KA 40— RIRF KR (9 10]) 3%cRH 2 2 0
HESMHEL 7 Lo 5 i ek 0
S B A B A 4 0
e AR A 0
A it 40 658 642 91 43 47.3
AOR—h74 VA AR 3 8 8 3 3| 100.0
PR EEHE RS AR (A %) 5 5 5 5 100.0
B BRI AR (PR — ) 2 2 2 2| 100.0
HRE BRI AR (TR " 0
HRE BRI AR (I B R 4 4 4 4] 100.0
— SRR 16 16 7 6 85.7
KRR -
IR A 39 39 10 2 20.0
N ATRBRA 7k 50 50 13 5 38.5
PN g RTHIRABRB A2 26 26 6 5 83.3
% me [HUMBRERAM 15 25 23 6 0 0.0
B | & [sowstmBMyat 30 27 4 0 0.0
jg B |eer—rIxans 27 27 11 1 9.1
LA —TFABRR 13 13 4 1 25.0
% 2 2 2 10 6 60.0
KA 40— BRI (A1) 3%0RH 14 14 6 0 0.0
KA 40— BRI (A1) 52cRH 6 1 1 0
KA 40— SRR (9 10]) 3R 4 4 3 0 0.0
HESMHEL 7 Lo 5 i ek 0
S B B A 4 0
e AR A 0
A 7 40 266 261 94 40 42.6




2% HBRIX 5y s NB | s | 2w | e | pss| e
AOK—7 4 U4 A3t 3 12 12 4 4] 100.0
DERRCHERS 3R (K226 B ) 5 5 4 80.0
ERR LIS 3R (F 25— ) 3 3 3| 100.0
SRR SR (LR . 0
SRR R (LB L) 2 2 2| 100.0
— e R 25 25 4 66.7
HEHENS R -

AR A A 73 72 18 9 50.0
AT BRA J7 2t 75 75 14 6 42.9
W |RIERERB Y R 59 58 7 1 14.3
Vﬁ BT AR BRAM 47 2 18 45 44 3 0 0.0
2 [RTREBRBM 4 54 52 4 0 0.0
B ferr—rs2a 3t 40 40 2 0 0.0
L H—TFABLR, 29 29 2 0 0.0
% 1R 2 14 13 5 50 100.0
K NG 4 — BRI AR (190) SRR 19 19 8 0 0.0
K NG 4 — BRI AR (190) SRR 6 3 2 0 0.0
KNG 4 — BRI P 3R (14 190) SRR 3 1 1| 100.0
HEAM IR E T Ao e BRI AR 0
SR IR A AR #T4 0
A BRI AR 0
/s 3 40 461 455 86 39 45.3
AOK—F7 4 U4 A3t 5 15 14 5 50 100.0
DERRCHERS 3R (K22 B ) 5 5 5 4 80.0
ERR I HERS 3R (F 25— ) 3 3 3 3| 100.0
SRR SR (LR 2 5 5 5 50 100.0
SRR R (LB R 37 37 37 37| 100.0
— e R 16 15 5 3 60.0
HEHERS R 7 7 7 71 100.0
L |mi s 40 39 6 0 0.0
= |nimatsra 39 39 9 4 44.4
\]/ HTHERRB )y 2 56 56 5 4 80.0
o [AiRBRAM 34 31 28 5 3 60.0
% AT BBABM H7 2t 35 34 5 0 0.0
w [err—752ak 17 17 2 0 0.0
;j L H—TTABH R, 31 31 3 0 0.0
% 1R 2 5 5 5 50 100.0
K NG 4 — BRI AR (190) SRR 10 10 2 0 0.0
K NG 4 — BRI AR (190) SRR 6 6 6 2 0 0.0
AL B — SRR Bk (7 1) SH0RHR) 1 1 0
HEAM IR E T Lo e IR AR 0
S BRI A AR #T4 0
A NSRRI AR 0
/s 3 80 359 352 111 80 72.1




%5 ABRIX 2y st A B | mme k| 2o | amen | orau] agx
AOH—F7 4+ Ak 29 84 82 22 22| 100.0
DRI IR (AR R ) 33 33 33 31 93.9
DRI IR A — B ) 15 15 15 15|  100.0
HeTE BCHES BUBR (R 139 7 7 7 7| 100.0
SR TE BCHERS SR (R 95 95 95 95| 100.0
R AR 160 156 46 32 69.6
R R 7 7 7 7| 100.0
IR AR 480 474 100 26 26.0
ATRBRA 2 652 649 120 36 30.0

& [pimamBrt 377 373 46 21 45.7
. |ammatman gt 150 269 253 56 14 25.0
7 [RMREBM S ak 309 290 48 14 29.2
L H—TTAAS 314 314 75 6 8.0
L #—FFABHR, 193 191 32 1 3.1
I 12 82 73 37 28 75.7
RN 2 — SRR 3R (BT0) 3 2R 134 134 53 2 3.8
RN — SRR T 3R (BT) 5 2R 37 50 50 20 0 0.0
RN 2 — SRR 3R (% 000) 3 2R 16 16 6 1 16.7
VRSB 1 LA TR R 0
S B A TR R ¥4 0
2 R 0
] it 360 | 3,277 3,212 818 358 43.8
AOH—F7 U+ Ak 3 7 7 3 3| 100.0
DRI ARIR (AR I EH) 5 5 5 5 100.0
DRI IR A — B ) 3 3 3 3| 100.0
HTE BCHENS BUBR (R 39 5 5 5 5 100.0
HRTE RCHER SR (B R 28 28 28 28 | 100.0
R R 13 11 7 6 85.7
R R 6 6 6 6 100.0
I AR 37 36 18 3 16.7
ATABRA 2 AT 46 24 9 37.5
A iRERB 22 22 9 1 11.1
5 |AmEREBRAM Y 37 17 17 12 2 16.7
T [imsmeM 16 16 13 5] 385
B [err—rmzans 29 28 10 0 0.0
L H—FTABHR, 6 6 4 0 0.0
1 2 8 6 8 5 62.5
RN 2 — BT 3R (BT0) 3 2R 15 15 9 1 11.1
RN 2 — SRR T 3R (BTH0) 5 20RH 6 10 10 6 1 16.7
RN 2 — BB T 3R (1%000) 3 SR 4 4 3 1 33.3
VRSB 1 LA TR R
S E B A TR R ¥4
2 R R 0
] P 80 278 271 173 84 48.6




e | R Ry s NB | s | 2w | e | pss| e
AOBE—F7 4 At 2 3 3 2 2| 100.0
DERRCHERS 3R (K226 B ) 9 9 9 9| 100.0
ERR LIS 3R (F 25— ) 2 2 2 2| 100.0
SRR SR (LR 2 0
SRR R (LB L) 8 8 8 8| 100.0
— e R 20 19 7 3 42.9

5 HEHENS R 2 2 2 2| 100.0
o e 88 88 29 5 17.2
2 [wmasray 162 159 50 13 26.0
e (Wi A 80 79 19 9| 474
B iR BAM S 28 73 72 15 3 20.0
B [RIERBRBM R 55 55 13 3 23.1
g‘z LA —TFTAASA 73 73 32 2 6.3
5 |[err—7o2BH 46 45 13 3 23.1
;‘jf It 9 25 24 9 3 33.3
K NG 4 — BRI AR (190) SRR 45 45 17 0 0.0
K NG 4 — BRI AR (190) SRR 5 17 17 6 0 0.0
KNG 4 — BRI AR (14 190) SRR 3 3 1 0 0.0
HEAM IR E T Lo e BB AR 0
SN BRI A AR ET4 0
?E s RIS R
4 /s 3 60 711 703 234 67 28.6
5} AOH—F7 4V ARk 1 1 1| 100.0
0 DERRCHERS 3R (K226 B ) 2 2| 100.0
ERR LIS 3R (25— ) 1 1| 100.0
SRR SR (LR N
SRR SR (LB L) -
g | RS -
1 [ s -
ﬁ AR A A 47 46 15 3 20.0
;Tj ATHIRABRA H3 104 103 22 4 18.2

ATHIRLBRB )7 2 47 A7 7 2 28.6
g; BT AR BRAM J7 2, 13 42 41 8 3 37.5
s [RIRBRBM R 47 46 1 25.0
YL H—TFAASR 53 52 14 0 0.0
= [err—7s2BHR 21 21 2 0 0.0
g I 1 19 16 4 4] 100.0
B [REAR L & — BB R (1) 320RH 29 29 8 0 0.0
B e ass 2 — s kR (i) SR 3 19 19 9 0 0.0

KNG 4 — FRBRI AR (14 190) SRR 1 1 0

HEAM IR E T Ao e BRI AR 0

SR IR A AR ET4 0

2 N BRI ER 0

/s 3 20 427 419 90 21 23.3




2t | R EN st NB | EREE sk | 2Rk | okt | ArEs | AeE
AOHK—hT 4V A 6 12 12 6 6 100.0
BERRRCHERS 3R (PR ) 16 16 16 16| 100.0
DERRREHE RS 3R (PR — ) 6 6 6 6 100.0
RIS R (LR 5 5 5 5 100.0
RIS R (B 36 36 36 36| 100.0
— S AR 33 30 14 9 64.3
RIS AR 8 8 8 8| 100.0
IR 2 A AR 172 170 62 11 17.7
ATEABRA J7 3 313 308 96 26 27.1
4 |RIRBRB 149 148 35 12 34.3
. |mmaEmAMT 132 130 35 8 22.9
T [FmrmEM A 118 117 30 9 30.0
B ferr—r52a 3t 155 153 56 2 3.6
YL H—TFABH R, 73 72 19 3 15.8
% IR 52 46 21 12 57.1
KA AL 5 — BRI P A (RT01) 3R 82 82 34 1 2.9
K2 AL 5 — BRI P A (RY) 5 40R1R] 46 46 14 1 7.1
KNG 5 — BRI P A (1 191) 3R 8 8 4 1 25.0

HEAMI E TR B A B 0

SRE N 2 A R R A B 0

2 NSRS AR 0
/N it 1,416 | 1,393 497 172 34.6
AOHK—h7 VA AR 329 323 160 156 97.5
BERRRCHERS IR (PR ) 147 147 147 140 95.2
DERRRHE RS BRI (PR — ) 136 136 136 135 99.3
RIS R (LR 160 160 160 160 | 100.0
RIS R (B 578 578 578 578 | 100.0
— S AR 669 658 286 168 58.7
RIS AR 65 65 65 65| 100.0
IR 2 A AR 2,575 | 2,557 810 162 20.0
ATEABRA 730 4,533 | 4,476 | 1,326 356 26.8
o | 4 |HimEBRB 1,990 | 1,957 510 194 38.0
| |iEREmAMR 1,655 | 1,608 521 142 27.3
T T [wsmsM e 1,722 | 1,680 488 135 27.7
ol B [ r—rszant 2,129 | 2,106 598 34 5.7
YL H—TFABH R, 998 987 232 16 6.9
IR 905 828 284 191 67.3
K2 AL 5 — BRI P A (R101) 3R 923 923 383 17 4.4
KA 5 — BRI P A (R0) 5 40R1R] 365 365 159 3 1.9
KNG 5 — BRI P A (1 191) 3R 144 144 35 4 11.4
AN E TR B A B 4 3 2 2 100.0
SRE AR 2 A R R S BR 30 26 11 9 81.8

s NSRS AR 0
/A 3 20,057 | 19,727 | 6,891 | 2,667 38.7
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